UP Police Constable 23 Aug 2024 1st Shift Answer Key Unofficial
; e TR TS § ?
M a1y g # 9fRr Al i e e 270 Reoh e mea &, < ot o fbe R e _

D) -

(A) Itz (B) zféor D (€)' i ise from faE:ing west at the beginning ?
Which direction are you.facing now, if )?jl turn 270 degrees clockwnsF I () East

(A) North-West (B) South : (C) West

Qmarﬁmstﬂzwﬁﬁaﬁtaam%,%@riﬂsm%aﬁr101ﬁaaﬂm%’ﬁ“mmgméaﬂtlsm
T & | 78 e g & ey & 2 ?3
(A) 20T ] (B) 18#HiX
(C) 154w (D) 10#HIX

A person walks 15 meters east, then o s left and walks 10 meters, then tums left again and walks_

15 meters. How far is he from the starting point ? ‘
(A) 20 meters (B) 18 meters
(C) 15 meters (D) 10 meters

eI S sk p il g e Il <t e o dem T aﬂtRﬁmmﬁi&iaﬁ@m%aﬁa
HT AR AR ? _

(A) 400 (B) 440 (©) 300 (D) 399

The following pie charts represent the distribution of candidates who were enrolled for an exam and the
candidates (out of those enrolled) who passed the exam in different institutes : |

CANDIDATES ENROLLED = 8550 CANDIDATES WHO PASSED THE EXAM = 5700
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(A; aamwgqﬁfaw\m:nﬂﬁ (B) Sy wray fored e ww & et 2
(C) S v e e 7 4 T © (D) ot frvame o 7t wgam v et

t alternatiy
Read the statements and select the corree

Statement | . Tray plays table tennis. ?
Statemen; ) . Table tennis is a difficult gamef ]

31

¢ Tegarding the conclusion.

Conclusion - Tray plays a difficult game.
From the aboye statements, we can conclude that

(A) The conclusion stated is probably false ,5’, (B) The conclusion stated is definitely true
(C) The conclusion stated is definitely false (”')

.4 (D) No conclusion can be reached
S FERRe 4 weh st s 2

Sl
o

o3
(A) ey (B) e ® © T (D) =i
Which of the following shapes is different from the rest?
(A) Triangle (B) Sphere (C) Circle (D) Square
6. PR 9w i 'SCRABBLE’ I ‘19318122125* % wq 3 TS foRar S R, @ sl
‘smb’ﬁmmmﬁmm? N

‘19318122125’ how will ‘STUNNED? be coded

A) 192021141545 (B) 192022141454 a? (©) 192021141454 (D) 192020141545

() .
7. w%ﬁaﬁtmm@ﬁﬁmﬁm,‘m@mﬁﬁ%mﬁr%ﬁﬁéﬁ%r’ﬁhwmﬂﬁmé
TG 9 o
(A) =& @ B) 0w
©) am

(D) =f
Pointing at a woman, Nirmala said, «“g

he is the dau
is Nirmala related to the woman ?

ghter of the only son of the mother of my sister,”

How
v Sieter, " E‘;]] (B) Cousin
(C) Paternal Apnt l::,] (D) Mother
8. omEmeEREE? ;?gn
What is the next letter ? ' r,
P:Q::T: . .o - e,) o
(A) R (B) P © T



o3 e @ e g wer & R TCE SIS Wi

9. . wﬁ
o SR @ Fs () ofeitd ©)
Curtains are related to fabric in the same way ag p)ip 4 are related to :
(A) Slats ®B) Lifters (C) Cords (D) Covers
10, TS T G- 8, I TE A H el .
(A) TEGETH ®) ™ ©) ferd (D) I
Soap is related to Clean in the same Way as Perfume'ig related to :
€4
(A) Neat (B) Smell (C) Smart (D) Freshness

11, @ T eRr-afim i o e 6 TS § sk 130%3173-@(53%%’@;%%%%“@@(@%
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(A) SfRrgd (B) ST [(©) =Ryorafzm (D) Jat-ufem

If you start facing South-West and turn 180 degrees ﬁ@your right, what direction are you facing now ?
(A) South-East (B) North-East Q:( ) South-West (D) North-West

12. 140 ferenfRiEt & weferor 7 wran w76 60 frameff it A S whe @ §, 70 femef wER W G we
A &, 7T 75 Ferermeff oS fim WerT wie w7 § | 3 i 30 ST 3SR 3 sTeeen 3l O TEE
18 =1 hift 1 3ft Sz 1 AT Gt TiE §, 42 0y e i St SRR i A et weE &, o 8 i andt
TR h W TS § | I ST T AT 0 I STt 1 1 7T i et ek S Qe ¥

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. Additiaﬁa’lly, 30 students like to play both indoor and outdoor
games, 18 like both video games and outdoor gam¢§', 42 play both video games and indoor games, and
8 like all types of games. Use the Venn diagram to fﬂla the students who play only outdoor games.

(A) 57 (B) 32 {C) 35 (D) 64
13.  ojEen i gu G (A, B) T iRt 3B + AT I At

Find the missing numbers (A, B) in the series and flEd? the value of B + A.

25, 36,49, A, 81, B, 121. g}i

(A) 146 (B) 125 © 152 (D) 164
14. Ap>q=p?+PMp<q=p’ -, A(1>2)<3=

Ifp>q=p’+q’ andp<q=p’ -2, then (1 >2) <3=

(A) 720 (B) 840 (©) 600 (D) 480
15. mwﬁmﬁaﬁmwma@yﬁaﬁmmmm|

RK59#B2%*E?A8LSI4SVTIC6N@H]3D

T Tore arem €, o & vl o 31k et ﬁt@mﬁﬁ@ﬁg% ?

Examine the following sequence closely and responito the question that follows.

RK59#B2%*E?A8LSI4SV7!IC6N@E13D

How many letters are there, each of which is irégjediately preceded and immediately followed by

symbol ? 0

A) 2 B) 3 {© o D1



16.

17.

- 18.

19.

20.

R sl i 8y 2 g0, A9 ‘?’W‘E‘E‘ﬁ“%ﬁmmﬁm

natio
Given the pattern in the provided coth 15 how Would yqy, express the combination represented

by ‘?’ ? < ‘
AZ3B, CY6D, EX9F, 9 [1
(A) KXi18L . (B) NZZIOz ©) Gwizg (D) IVI1S)

a?némraﬁﬁﬁzﬁaﬁ%@%'gq m“'@“ﬁ"@ﬁﬁmﬁmma&ﬁo

L1, 9, 27,25,125,7, 343

(A) 49 (B) 37 © 22 (D) 34
ﬁw%%ﬁé%qm%maﬁsﬁaﬁmmﬁ%?

Which of the following words has its lettefs In an alphabetical order 9 |

(A) Collops
o P (B) Envelop§] -~ (©) Bloops (D) Adrops
AELRILN EQl
ST qﬁmﬁﬁq sﬁtﬁwi%ﬁawaﬂwa"rﬁm
: | Qgﬁ At (o eim
11 [3 —>ﬁa%r«hn
17\ 4
A > fféra dm
ﬁa%qﬁaﬁaﬁmﬁw%ﬁmmﬁ
(Aa) 31 ®) 22 (©) 20 D) 16
Examine the provided dlagram and resllol}d to the following question,
. 2
8 Q~)~> Employed people
: o]
11 |3 | (qn— Backward people
17\3| 4
A —> Educated people
How many individuals con51dered backward are not educated ?
(A) 31 _ (B) 22 . (C) 20 (D) 16
0.05, 0.5, 0.25,1.25 ST H&wH HTIEh (HCF) 31 i |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
(A) 125 (B) 0.25 (€) 0.0 (D) 0.5



21.

22,

23,

24,

25,

26.

27.

gﬁﬁﬁﬂﬁﬁmg’m%l

the remainder 3 in each case.
S

Had B HET gra hifere 4 4, 6, 7,8@(95; FEA X

coeg Do 9 Jeave
Find the smallest number which when divided by 4, 6, 7, 8 a';d (D) 504
A) 501 ' (B) 510 = (©) 50 .
( . G Eﬁgﬁm =l e ! ,
afg 30 AT T AT o 40 TGl %ﬁmﬂ\wﬁw g, then what is the loss percentage ¢
If the cost price of 30 Lt\ablcs is equal to the selﬁidg price of 40 tables, D) 30%

25% ° B) 37.5% () 26% s
— ( @ . 3 5 Gt I S H TS § | 3 T8 Q wife
T et fSIshal 5 gt 7 10 3 4 1 S0 37 3o 2 arfrss G T 10 ,

FT20F 9FT Y e & | a0 A1 T Wiver a2 2

2%
(A) TERrTEmy (B) gﬁﬁﬁmllg
(@) aﬁgﬁmlg% ] (D) 'ﬁmmlﬁ/"

“ for ¥ 10. Then he
A fruit seller buys some oranges at the rate of-‘.{é_ for T 10 and an.equa1 number?more at 5 for
sells the whole lot at the rate of 9 for % 20, Wit is his loss or gain percentage ?

(A) No loss or no gain 4 #%  (B) Loss percent 12%
© L t12 o (: D) Gain percent o %
0SS percen ﬁ o L} ( 31

o |
TR F W A v | wfer foram st 21 G R 2 = 17 it fepam <t <2 & weh fivsror ww 6y & Ry
m%wwa@amfﬁﬁm ,

Two types of rice rates are

T 11/kg and ¥21/kg. Find the ratio of the two types of rice to obtain a mixture
of rate T 17/kg.

(A) 2:1 (B) 2:3 © 3:1 D) 1:1
12.5%@«%@%&7%@%&3@@&%&? .

(A) 20a§ (B) 109§ ‘;l ©) 129¢ (D) g4
In how much time will an amount be doubled E‘!the rate of 12.5%, 9

(A) 20 years (B) 10 years ?’») (C) 12 years (D) ‘8 years

MR T 3 e Fifar 6 8 150 Ref i it e % R 200 AR 1 P e | af 50 Rt 3 Sy
@-Mm%mm,eﬁq}mﬁqugm%mﬁwmmmm Tl

g2 @

Indian Railways employed 200 workers to complete a certain work in 150 days. If only one-fourth of the

work had been done in 50 days, then to complete the whole work in time, what is the number of additional
workers to be employed ?

(A) 300 (B) 200 (C) 100 (D) 600

12 769 3K 18 wfeetd v &m 1 10 Rt f e asd | 93&#3ﬁt}8wwﬁmaﬁ 12 R § g wery
%|Egzgwaﬁrﬂ%aﬁ@mwﬁmﬁm%ﬁé%ﬁﬁﬁﬁwwmﬁq

(A) s0fA (B) 60 ©) 801%«;: d(?t), 70 R
. d 18 women can do the same Work in 12 days.
do a work in 10 days. 9 men an . .
;fz 2mr§:na::d1§ \:/vgrr::: t(:)agneth(;rado the same work, in how many days will they complete the work ?
70d
(A) 50 days (B) 60 days (C) 80days (D) 70 days
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28.

29.

30.

31.

32,

33.

34.

3s.

S i ﬁt32mﬁaﬁm@, -ﬁmgaﬁ(ﬁﬁﬁm
e : 59 ferimer A1 - g fegmaTl
A i EE RN NSl A
RISIERIRET S
(A) 1247, B) 1237 © 170+, (D) 1207,

e km/hr . in the
Two trains travel in the same direction at 59f and 32 km/hr and the faster train passes a man
slower train in 16 seconds. Find the length of the faster train,

(A) 124m (B) 123m © 170 m (D) 120m
67Iﬁawiaﬁz=f10@%%3‘432??"*“?@“3%“%%léﬁmssvﬁaé%tézqﬁﬁqt@%@a‘ﬁﬁﬁm
F | T S gy g S

(A) 5.5%%s (B) 45¥HS ﬁ:ﬁn 6.7 ¥ (D) 8.8 TS

) .
A 67 meters long train crosses a tunnel of length ‘eters in 10 seconds. Find the time for the train to
Cross a man standing on a platform of length 65 meterj_

(A) 5.5 seconds (B) 4.5 seconds (©) 6.7 seconds (D) 8.8 seconds
ﬁﬁaaaﬁtﬂqﬁamzz1%313%1?%@5:3%333%&@#8&%%@:4:1%a§¢mﬁmm§lwﬁ
ﬁiiaasﬁrﬂqaﬁﬁ;’wﬁammmf10,00g%,a‘rm@mﬁmmmaﬁrﬁm

Nikhil and Reetu earn in the ratio 2 : 1. They sp_enc[‘@ the ratio 5 : 3 and save in the r?tio 4 : 1. Find the
monthly income of each, if the total monthly Savings,af both Nikhil and Reetu together is ¥ 10,000.

(A) T2,000,71,000 (B) ¥8,000,T4,000  (G) 728000,% 14,000 (D) % 10,000, 5,000
T T H O BT S 3R s M 20% W 2, g s 3T H TV &1 M & | Th I O

ANIFay it & 30%@%@%,333?%@&20%%“%%13?%%%%?%
e TR 2

In an examination, a student who gets
scores 30% of the maximum marks, g
for passing is :

(A) 22% (B) 20% o 2% (D) 27%

@ﬁfmm&waa&%%QS%ﬁaémnﬁ]amz 1,600 % 1 3 1 3 oI FoT = T sy =
(aTftieh &9 & T samen) s hifv | S

The simple interest on a certain sum of money for rwlo years at 5% is T 1,600. Find the compound interest
at the same rate after 3 years, interest compounded ggnually.
(A) T2,555 (B) 2,355 EHC) 2,520

12-02-2022 / 11-02-2023 T 15% Yy ad v iy = 73,000 T HTHROT s7e7 2 -

The simple interest on % 73,000 at the rate of 15% per annum from 12-02-2022 to 11-02-2023 is :

(A) T13,450 (B) % 14,750 (C) T12,050 (D) % 10,950

T 475 3ifehet 3 15% & TR 1 T St el o 2 2

What is the discount on a pair of shoes marked at 3 < 375 and discounted at 15% 2

(A) %7125 (B) ¥75.25 <o) T70 (D) £72

OF THMER O g o 3iford T W 10% it gz 341 & A T2 I 71 W 89 37 oy s v 2 1 A
e fesft 3 wfier ey 36 &9 8 234,020 1 [T el €, T 31T g e 2 9

A shopkeeper allows a discount of 10% on the ma(xleEd price of an item but charges a sales tax of 8% on

the discounted price. If the customer pays ¥ 34,0 3(5 s the price including the sales tax, then what is the
marked price ? (&

(A) 39,000 (B) ¥38,000 ’3c> 34,000 (D) ¥35,000

20% of the maximum marks fails by 5 marks. Another student who
ets 20 markﬂ more than the passing marks. The percentage required

(D) 2,522



36.

37.

38.

-39,

40.

41.

‘qﬁx:"ﬂ( (xio)waﬁgam%?‘ﬁxzaﬂ'{ FHATAE

L .
If the average of x and ;(- (x #0) is m, then the average of x2 and X2 15 :
() 2m?-1 (B) 2m’+1 ©) 1-3m? (D) 1-2m
oft 9 AT W GEaTa 1 S 132 R, W et oy aifiym grearedt @ S I HT |
If the average of 9 consecutive eVen numbers is 132, find the difference between the first and the last
numbers. .
(A) 16 (B) 18 (©) 19 (D) 15
et 3w R e 3 25% 1 31 % oy, qa;mﬁ%l 2ooﬁ6%mmmaa@ﬁaqm% | T
a1 wf fera e qea S on ?

As a result of 25% hike in the price of rice per kg, a perE L is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg 9 33"

(A) T50 (B) T60 (©) % (E ; (D) T40
aﬁmwwﬁwﬁaﬁwmﬁm@m%aﬂtmg&@@m(@mwm%ﬁm%
W@éﬁ)ﬁm% ﬁmmmmm)ﬁmwm?

(4) g RriE) - (B) A @e) () vom ewEEE) (D) m&?r%fm)

If you have a regular icosahedron and you slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section ? .

(A)" Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
Ferferfad sjae e dem i e i | []
Identify the incorrect number in the following series. '{:]
4,7,13,21,34 | ]
-0
A) 13 (B) 34 (C) 7= D) 21
¢ ¢ . ‘«_ ’
few e o o st o () <l HeTT 9 hifve 1]
Find out the number of the cubes that are arranged in the figufe given : .,
&)

A\ d [
\SE/ :
N 5

o

Ay 18 C® N © 2:1@] D) 16
2. e i SHATTA W St o Aoy 72, ?ﬁwﬁwﬁaﬁmﬂm%"

 If the sum of three consecutive even numbers is 78, what is the second largest number ?
(A) 26 (B) 28 - © 24 (D) 30

GWZ-24. Page 8 of 24
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43.

e A T

Choose the odd one out,

(A) KL (B) QR Ll © az (D) FG

44 aﬁﬁrwaﬁwgﬁfﬁamaﬁrﬁmﬁﬁmﬁﬁ(]www%
Find the mirror image of the figure, if the mirgo;x} is placed at XY,
L
Y cv]
4 )
: )
’
Y
]
59
)
{“.a
©) 5 O
%)
45. H@%ﬁﬁgﬁﬁﬁwmﬁm|
Find the number of triangles in the figure. [']
«{"I
i
)
alf
L 16
(A) 9 (B) 8 © 12 D)
- - ” ‘aﬁ?{{m
6. SR ST T G R, ey i 4 et e & 1 v e A
Hef R 2 ~
(A) = ®) =& © = " ther.” How is the
Pointing towards Aneesh, a woman said, “His mother is the only daughter of my mother.
woman related to Aneesh ? ©) Grndmatir
(A) Sister (B) Daughter (©) Mother s
GWz2a T

Page 9 of 24



47. am«ﬁn(l,z,3,4)m-amw?%%—ﬁa,a%%ﬁﬁaﬁ;@apmwﬁﬁﬁaﬂmagmﬂqﬁm

| FIAH
e 35 er & 7 o g i o e 3 vt ey I,maﬁs%%ﬁiﬁﬁ%aﬁwwﬁﬁ e 7 R Ry
g!;; %%: i
(A) 1-30,2 - Fa, 3 -G, 4 -8 i((») | — e, 2 — 8, 3 T, 4 — =

©) 1-@3,2-%1,3—@?3,4—%}‘7 D) l_a;m,z—ﬂﬂ,3dd@a§,4—éa |

Four people (1, 2, 3, 4) cach pick a different fryjt apple, banana, cher;)y and date, t’:"he pirs(ci)nhwt‘lio picked

the apple is next to the pcrson.who picked the banana and not next to the person who picked the date. The

person who picked the cherry is next to the person whg picked the date.

The correct combination is :

(A) 1-Cherry, 2 —Banana, 3 —Date, 4 — Apple (B) 1-Banana,2— Apple, 3 _ Date, 4 — Cherry

(C) 1-Apple, 2 - Banana, 3- Date, 4 - Cherry . (D) 1 — Banana, 2 - Cherry, 3 — Date, 4 — Apple
48. T Sore o et ST (X) 3 R0 TG & e st s s

Find out which of the figures can be formed from the pieces given in the first fi gure (X).

-

¢
g

(X)

q

f'_‘z.\

@&

(A) (B) ' © O)

49. ST Ve I Ay

Find the dissimilar numbers. '
(A) 16,25 (B) 49, 81 f(}i) 8,27 (D): 4,9

50, ﬁmﬁr@ﬁﬁaﬁmaﬁa@n&mﬁ,mﬁaﬂx%ﬁmm%mm@m%?

Which of the following diagram/set indicates the rel%tél)n between women, mothers and parents ?

N
) C@D g(%) @
%!

&
©) (D)
51 OTR¥E QU i |
T : 7Y AN ;9
@) fr B) dig - ® =
Complete the analogy.
Glove : Hand : : Sock : 9
(A) Head (B) Arm (C) Foot (D) Shoe



2. I |

5 j‘iﬁ-ﬂﬁ‘?:ﬁﬂﬁﬁmzﬂﬁm@{:?
(A) &N (B) TS SIeN (C) wigs (D) "R
Complete the analogy.
Astronaut : Spacecraft : : Diver : ?

(A) Car (B) Airplane (C) Submarine (D) Bicycle

53. @ﬁ%@t@f@%mﬁuﬁzﬂ%wm@@m(@amuﬁﬁz%mm%mf’mm‘taﬂwr-‘ﬂz
(FRIH-HEFTI) T SATHR HT1 ?
(A) dgm ®B) e (©) (D) I

A cylinder is intersected by a plane inclined at an angle of (idegrees to its axis. What is the shape of the
resulting cross-section ? .

(A) Ellipse (B)' Hyperbola © Pé{;zc-ijaola (D) Circle
\“5
54. wI%CATmmDBU%,a’rDOGmmw%? QC
If the code for CAT is DBU, what is the code for DOG ? ]
(A) EPF (B) EPH (C) DeB (D) EOF
) ,
55. aﬁg%agw, 3F0, 1,2,3, 4 FHUT: A, B,C, D, Emgﬁmw% | [(B+E)— (D + A)] 1 9H 3
Hifww | . _
According to the code, digits 0, 1, 2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of
[(B+E)-(D+A)]. .
@A 2 - (B 3 © 1 D) -2
56. @ 1Tl A =y At 0 O
What will be the next number in the series ? q
3,6, 18,72, 360, ... L]
=)
(A) 2160 (B) 1820 (C) 2%80 (D) 1260

57, 5:W%Q$¢RHRA,B,C,D,EWF&€I%H®H@% D T forer @ oitt E o1 oy 2 , Bt 2
%aﬁrqsq%vnél’C@aﬁa%aﬁméﬁaﬁa%lB 7

?| B, Ed R vmwsiig 2 o
(A) = Wy (B) wmft ©)

. wife. C is a lawyer and married to A. B is not a male
How is B related to E ?
(A) Mother (B) Aunt (C) Sister (D) Father
58. U SR ST e e S g 0
fereher e efter € et o | g
?Wﬁﬂgﬁw%:
(A) Ty (B) W™ ©) \Eﬂw\ e (D) s
59, ﬁw%f@aﬁﬁﬁq-mmm#f%? O
(A) ¥ (B) ¥7H ©) %m (D) I
60. 1o 3 o e e e 8, Ao w9 ®
(A) o (B) wgIMoT (C) swgmmor @) Wgws
Gwzz4 """"""""""""""""""""""""""""""""""""""""""""

Page 11 of 24



61.
62.

63.

64.
65.
66,
67.

68.

69.

70.
71.
72.
73.

4.

75.

g ST TR IA TG TAE
&‘}Waﬂwﬁ"qgem ® FIE-STE () g () -l

5 Wﬁgwmm%mﬂ?m#ﬁ%?

N Ol (© fm (D) I
e T F AT A g 2

() & g fear (B) A9 S{eT <l ST It

() T A g e (D) TSI ST FE( &

‘mﬁwmﬁ’mﬁﬁm%@mmﬁqmm%?

@A) T @) e _ (© < | (D) e

%W%WWWW%W%%%?

A) TeAaE 9qaal  (B) ﬁ“ﬂ% *:] (C) e EIT == (D) gt da
oo 3 e T 1 WS g |

(A) I +3< (B) ML +9< '(:; (© =TW:+3% (D) =4: + 9%
2019 1 ATfeT FTFTEHt T Rl TR i ey 0

(A) TefrEReEE  (B) WNEad iy fé"‘) © wEwfty - (D) sniwRE
I F FA-AT AR 2 " T
) fa (B) =gl C(C) e (D) Teew
EERNCUILERCIE I E DR i

(A) HF FSN T FET L (B) e ot R

(C) waEard BT - U (D) SHTEYES §Y Y WEaE BT
ﬁmﬁfﬁaﬁamm‘m’wmwmﬁ%aﬁ%?

a) &m B) fm - % ©®w (D) &
ATl T TR 2 O |

@) T . ® = ' E’} © w (D) &

A o T e & e A e e R Zi) ‘ | )
() TREEE (B) e (C) = EFRT (D) A ygwT
ot e e atreen v aer e 3 R e YR ST |

A) = (B) ¥ (C) 3wt (D) 3FHIET

ﬁw%mwﬁmm%qﬁmﬁaﬁ]mwﬁhﬁwﬁ?
m—mamgm,m '

(A) I, 3T, 31T, 1 . E} (B) 3T, 1, 3T, TG
(C) T, e, 211, s (D) T, 3, M, AE
& T 5 g ) |

(A) m@ﬁmﬁﬁﬁamﬁ% (B) T Y s fn, et Y st A < T s



Naaisa s et

emal i & 4 P et P S

e ¥ S A I ¥t 1T

X
&

(), s (2;2;316 - (© B, Em (D) e, srart
7 (jj",},“gjm (B) e © TR (D) ity
frferfad & & aTel o J[E T 1 =957 hif ;
e b ol (B) T i apyt nfeat
©) W@ IETHIE] (D) T § 3t wnfar &)
79, foemEus RE R
A (:-) B (D © () D) (-)
80. mmﬁ‘m’mmmﬁﬁwfﬁqﬁm%y
(A) =3, qH A | <] (B) =31 % 3% anft sy |
| (©) T 3= fhar sy | ] (D) 7% I wgq w12 |
8L R % A E % '
| (A) e ®) g=Em Q) ©) ey D) s
82. ‘IS sk wHRTEIH T 2 9 5 '
@) =i ®) F= @ © Fe@mEn (D) s s
83. ﬁqf%-lftaﬁ@raﬁ-—r-mwgi‘c—vm%?
A a3 (B) &f (C) &mr (D) we
84. agwéaﬁﬁﬁﬁﬁaﬁ%émlwmﬁaﬁmmm%?

(A) THRETE  (B) amrradam

85. ‘Wi - ey W-@muﬁﬁm%&
A T <

(C) dfryadam (D) ¥ S

B) 7E-fret

©) forrdas_amfy (D) 3@ - Fwer

]
8. ‘W@ﬁﬂ@ﬁ@m’-aﬁaﬁﬁsm%ﬁn:
(A) TS ST T Tty Sy ]

., (B) W@mwm
(C) SV FET

ol (D) ¥ & Twe s/ = 3 Ry g
87. ‘mmémmw’%m@ﬁ%’;
(A) Y~ (B) wiga (C) qurzw (D) gyw
88. ﬁw%mﬁ%w-ﬁmﬁawﬁwﬁ%?
(A) W= (B) 3G (C) 3mEw (D) T
89, U @ wifeges aref 2 .
A) fm ® fredx U ©) wuftm (D) forga

(M., 907 94 Terisr W)



8, et P FT T TELS e e S i et oo e & T | v e i
3| za e I TE Wm%gﬁmqﬁ%aﬂtmmaﬁm%mﬁm%l

oy e 7 S ST | SRR Y g af g A g5l S ST 8, T Fery e o sy

A 1 ST
b e e A GO e e S AT 8, if -
90. o, e, e, e 3t A S @ Fraifira §
EB) ﬁmmnawﬁsnagy;rmﬁ@m
ED; it i ot afafdd &1 T e |
_ﬁpﬁzﬁqﬂﬁﬁlﬁaﬁmﬁmﬁmimwﬁﬁ@ .
O e g g (®) g e e
(©) s T A g o (D) g T I
92. mmmmwﬁﬁaaﬁﬂmﬁﬁ %Hﬁfsq%qm@%,q@ﬁ:
(A) T o o fresees ot @ wenfia 2 | (B) SHEDATHIETE TH TSI @TE |
(€) mém%uﬁmﬁmﬁ%l (D) %%@ﬁmﬁﬁ%wﬁsﬁwm%l
93. n fagmny e fr waivF wEEqUI TR ®
(A) e &1 TR faeR | (B) icefiet Sitam 1 Teamad |
(C) it =t rurEim sfifees fasm | ’ (D) Sitae 1 gatior e |
94. WIS Sfia i TEATGT I & ¥l Teh TR € 2
(A) TEOTAH P EMETHHRG  (B) HIE AT HT R R
(C) witfcrer Sfam-veat t fruttor s (D) ﬁiﬁ-wﬁmnﬁﬁﬁmm
95,

96.

97.

98.

T ST ¥ O B Y 25% A AT | A g Tl 35%@%@\‘1331 ST T8 T 732 F F S, 4 I 36%
FIAET | NS FFA [ FTAT? o

A person sold a horse at a gain of 25%. Had he bought it fo
have made a profit of 36%. The cost price of the horse was :

(A) T1,500 (B) T1,800 (C) T2800 (D) 2,000

gEXAMINATION %! VCZNRMZGRLM & &9 # w@m STl 8, d WRITTEN I o T e
ST 2

If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?
(A) DIPGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM

T 1, A SR 105 3 AT 36T WA WR | e A o or 2

In a class, Sambu is ranked 10t from the top and 36™ fror{The bottom. How many students are there in
the class ? '

am

£35% less and sold it for % 732 less, he would

(A) 43 (B) 44 (®) 4% (D) 47
K LRl oM, Lfiagad| N, K £13d 2, 5@fs 0, WA A | OFK AT T 2
(&) fa ®) =t © =g (D) WFT

K is L’s wife and M is L’s sister. N is the daughter of K, WH@{}e O is M’s mother. What is the relation of O
toK?



]
09, e # TS WA 1 KW 6, 24, 120, 720, 5]
. I;ind the next number in the series 6, 24, 120, 720,i.~j .
© 5
i}

;' (A) 5400 (B) 5040 e 2 440 (D) 5004
? 100. @ 77E si@er § & foww (@er) Y R : f,
i’ Find the odd one out from the given series : [:g
| 486, 482, 478, 474, 472, 466, 462 f: )
(A) 474 (B) 472 *(C) 478 (D) 4 66
101. TF a9 50 ﬁﬁﬁtﬁanﬁrﬁ%ﬁnﬁfﬁzso ﬁf-ﬁtﬂaﬁg\ﬁmm% EEIA (0 T ——,
(A) 4% (B) 6% ©) 5% D) 75

to complete the journey ?
(A) 4 hours (B) 6 hours O 5 hotirs (D) 7 hours

102. Frforie sTgerm 3 q e A 2 9 .

o

What is the missing number in the following sequenge 9

3, 18,90, 360, 1080, 2160, .0 '::E
(A) 360 B) 0 ED(C) 2160 (D) 1080

103. o & smreh e A 11, 39, 75, 110, | ]
Find the next number in the series 11, 39, 75, 119,‘,3?j .

4) 181 - B 191 ‘“S(C) 161 D) 171
104. 3R INSECT % JOTFDU, HOUSEFLY #I IPVTFGMZ % &7 S {61 ST R, W BUTTERFLY 5y
IfINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFLY will be coded as :

(A) CVUUFSGMZ  (B) CVUUSGMzF (C) BVUUGMSG (D) GMGUUCVF

105. 3T 95474 Y KGFIF ferarsmar 2, 9 82143 g | T ?
If 95474 is written as KGFIF, then how will 82143 written ?

(A) JDCEF (B) IDCFE ,Q(C) JCDFE (D) JCDEF
106. A,Baﬂtcwaﬁwmwmﬂm%mﬁfx TBW@WW.@OW%WB@ICWW
a5 70 foRetim 8, 9 B s as RS 0 Tﬁg

(A) 21 el (B) 20 freimm 38C) 17 e (D) 18 i
The average weight of A, B and C is 60 kg. If th@ﬁverage weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ?

(A) 2lkg (B) 20kg (©) 17kg (D) 18kg
107. 40 BTAT T T FaT A, 15mm@a—$‘r%{aﬁt15m%ﬁn@aﬁ§,ﬁksmﬁ@a@aﬁ%|a’raﬁﬁ
I3 oft e T Gt Tl ot f dEn

In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :

A) 25 .. B) 35 ©) 15 (D) 10
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o = ey v 3 PR A (SRS T ) a0 gty 8, < el AT ot (diesedt) st o
108 mﬁ%mmmﬁﬁﬁwwm%l
.

]

v.
o

@Mﬁqﬁ@ﬁmaﬁm%mﬁf@fﬁﬁg%mwﬂﬁwmwﬁqmﬁ%m AT 20%

#

P 1 ST Tt 5T, SNTIZH Tl (T 1R werer et ot oy € st i 2

(A) T4845Fg B) TS24I &% (C) T5802g (D) %5500 FAS

The given pie chart illustrates the various sg_drces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phas%g Projects.

&)

External Assistanc;e
11,486 [:”

Market Borrowing
29,952

To support the project with T 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to

collect ?
(A) T 4845 crores (B) ¥5254 crores (C) 5892 crores (D) T5500 crores
109. Y, XFEHE, Nz HsmiAd | aRkp, 2 Heud e @ e, Y FiRra i e
(A) ISR (B) <fRvrufyy (C) IR-ufHw (D) aféor.qd
Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which direction of YisP ?
(A) North-East (B) South-West (C) North-West (D) South-East

GWZ-24. Page 16 of24 T TTTTTmmmsse-eemeeont
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110.

111.

frafafaa sae o e de i fif | .
Find the incorrect number in the following series.
1; 12, 144, 1782, 20736

(A) 144 (B) 12 (C) 20736

(D) 1782
Th Igh!  Th Agh T i 39 g, ‘%ﬁ%m%ﬁmﬁéﬁm%%!”a‘@%mmﬁwm
27

(A) e (B) =t ©) frar
Ihtroducing a boy, a girl said, “He is the son of the daughter of the father o

(D) g

f my uncle.” How is the girl
related to the boy ?
(A) Sister . (B) Mother- ) Father (D) Brother
112. 3 ofem i 2o & wew R, @ sy e T s 9
(A) Ry (B) sfEurufipy €) Iwufim (D) Iwe-gd
If West is replaced by South-West, then North wij Y€yeplaced by :
(A) South ‘(B) South-West [@) North-West (D) North-East |
13, % e e e foveh 2 °"§ ,
(A) W | %3) T Uit
(C) ani¥ire sl \ (D) efrae grert
Who wrote “The Scarlet Letter 9 "
(A) Mark Twain (B) Herman Melville
© Washington Irving ) Nathaniel Hawthorne
114, W%ﬁamﬁwaﬁsﬁmﬁmm% m@mﬁﬁmmﬁﬁ‘m’mgﬁm%?
A) Que (B) Iwmmy ) & (D) %ags
Which social media platform has a feature called « eaks” to €ncourage frequent communication between
users ? o
(A) Snapchat (B) Instagram ‘ &b) Twitter (D) Facebook
115. Wa{mmaﬁmmaﬁﬁ&mﬁ? 3
(A) TN (B) ¥ @C) wiefhqw (D) wgwd
The capital of the Pallava dynasty was located at
(A) Thanjavur (B) Mysore © Kanchipuram (D) Maduraj
116. ﬁ?ﬁaﬁnmaﬁé(FSB)ww%?
C(A) %ﬁmﬁa%ﬁﬁﬁﬁammm |
(B) %aﬁmé&ﬁ%ﬁ%&'ﬁgﬁrmaﬂw H
(©) aagﬁmm%%ﬁuéﬁ%mmaﬁaﬁ TG e |
(D) Wﬁﬁu@mgﬁfﬁ%%\ x
What does the Financial Stability Board (FSB) do 9~
(A) It provides financial support to developing cduntries.
(B) It manages the foreign exchange reserves of #¥member countries.
(C) Itregulates interest rates for central banks wo! dwide.
(D) It ensures financia stability,

GWZ33 T e
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117. et TS TS o & & T T A1 2

ftrT ST freat | D) Sftran s

(A) @) Rreardd © W@ TR (D)

Who was chosen as the brand ambassador of GST ? -

(A) Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan @) Amitabh Bachchay

118, Frefeiad ¥ & ia-eh e i ST % e i ey 29 ea
A) hegaE  (B) REETE (o) RfeEE (D) HRATH

Which among the following lines is a boundary between France and Germany ?

(A) K-WLine @®) 49 Parallel Line  (C) Siegfried Line (D) Senger Line
119. fader =R wRIRwe™ (DGFT) ﬁ:quam%mm% 9

(A) T&H, Y IR AW IgH HAHT [

S IRELIREISP] ]

() faa e | 0

D) W@WW E;"?v

The Directorate General of Foreign Trade (DGF"nj domes under which Ministry ?
(A) Ministry of Mirco, Small & Medium Enter;ﬁ-l-ges

(B) Ministry of External Affairs o

(C) Ministry of Finance S (=)

(D) Ministry of Commerce and Industry

120. TV Sl <k IeATEH o T -9 aet STTawash & 9

&) fafe B) TEFH () FE (D) i

Which element is essential for the production of ﬁ\.]clear energy ? |

(A) Silicon (B) Hydrogen - (C) Carbon (D) Uranium
121. TS I S o o ot 3 sy stmar & 2 E]

(A) TI<IR ] (B) wyu

(©) mfsemare O (D) g

NOIDA comes under which district of Uttar Pracil_jh ?

(A) Bulandshahar - o} (B) Mathura

(C) Ghaziabad : ' @) (D) Gautam-Buddha Nagar~
122. fqu s Reqwammnsmarg e

(A) 3 (B) 15 3T (C) 10 3FagsT (D) 9 3T

When is World Post Day celebrated ? :

(A) 3%0ctober  (B) 15MOctober Ol (€) 10" October (D) 9™ October
123. ST 2024 TH WA EIAEFI@HL? (] -

&) FEAd ® waafie ] © FemRw () s

Who heads the Union Ministry of Home Affairs g&:of June 2024 ?
(A) NarendraModi  (B) Rajnath Singh (7) (C) Nityanand Rai (D) Amit Shah

124. 3T v w e i e fra ad H g oft 2 g
The Indian National Congress was founded in W@h year ? .
(A) 1905 (B) 1947 (C) 1857 (D) 1885

—-"
- - e = e - i e L R
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125. T 1 U8AT BTE Sgel el o R o1 ? g
(A) FEHE (FT%) E] (B) = (Ferd)
(C) . feeett ~ ' (D) T (T
Where was India’s first airport located ? CJ
(A) Madras (Chennai) [:] (B) Bombay (Mumbai)
(C) Delhi o (D) Calcutta (Kolkata)
: : &) '
126. YRa § Ha@wl & g, Jameil 3, GST UsiaRT & fo7e dites fufire (& 2 2
(A) T20T@ (B) T50m@ (C) T5@@ (D) ZT10wT@
What is the threshold limit for GST registration for businesses in India, for services ?
(A) T20 lakhs (B) 50 lakhs [l (C) T5lakhs (D) T 10 lakhs
127. ﬁaﬁamﬁm?ﬁamﬁaﬁa’rmaﬁr} %maﬁm@%ﬁmaﬁmmmaﬁ
el e i e ) 3 fore e ST | D | |
(A) PaIBRIT - (B) HERW 0" (C) VPN (D) fafym
uses images with malicious files in thEljl meant to help a hacker steal your account information
or infect your computer. . o)
(A) Image phishing - (B) Catfishing @& (C) VPN (D) Smishing
128. FHICRTET VRIS i TS 12 ? | |
(A) et R (B) SHEME (C) SRS ' (D) TRZEH
What is the capital of Republic of Croatia ?
(A) Mexico City (B) Dubrovnik [j (C) Zagreb ‘ (D) Amsterdam

129.
) wwmﬁwmm@ﬁgﬁwﬁmwﬁmﬁ@mwﬁmm%l

Wﬁa@ﬁmwmmaﬂaﬁ&wgvﬂﬁm%?

(B) TEIAW AT AgunF@el ()

(C) g SAfrewITE! Y Hvifera @l i TR e Te=TR o WETHdT T R |

(D) IE &1 I ST Y AT a1 ¢ | °@f§ '

In what ways does information sharing become important in fighting terrorism ?

(A) It allows terrorist organizations to coordinate attacks more effectively through security agencies.

- (B) Itimproves relations with other countries.

130.

(C) Tt allows authorities to identify potential threats more quickly.
(D) It strengthens the military’s capabilities.

m%ﬁaq@mﬁ%ﬂaﬁ“w@ﬂﬁwﬁr 35 T R ST SR 2

(A) =ER (B) W (C) AUt (D) S
Which of India’s neighbouring country is known as the “Land of Thunder Dragon” ?
(A) Myanmar (B) Bhutan - (C) Nepal (D) Bangladesh



131.

132.

133.

134.

135.

136.

(A) TRUM (B) T (©) zfrx (D) e
Which of the following is not a Social MedlaIEatform ?

(A) Instagram (B) Google “,:] (C) Twitter (D) Facebook

. [
it 3 & foe ST 61 ST H (R b 2

(A) TR B) SN ZIERCRL (D) SeHIT qgqwT
Which of the following types of pollution is qultural (accelerated) eutrophication ? .
(A) Soil pollution (B) Water pollutimfj (C) Noise pollution (D) Thermal pollution
S)

1946 F fergsiertor & SR RBI % TR 1 ) 9
(A) 3BTRS | (B) wifvhenid T
(C)  feiamvT SR SaTE (D) <. geamr

Who was the Governor of RBI during the demonetization in 1946 ?
(A) Urjit Patel (B) Shaktikanta Das
(C) Chintaman Dwarakanath Deshmukh (D) D. Subbarao

mﬁmww—mmm%:ﬁ%ﬁ%ﬂ@mﬁ&m%? |

(A) WALV (B) wmv X (© wmn (D) 9T INI

Which part of the Indian Constitution deals with the Directive Principles of State Policy ?

(A) Part1Vv (B) PartV 0 © rartn (D) Part III
o3

TeT Qe forereiie” fopes gmr ot s oft 0©)

(A) AT Jow - (B) Y Bt Frmer

(C) weret amf

(D) f?rﬁxa"rmwgw

The book ‘A Life Misspent’ was written by ivhom ?
(A) Jawaharlal Nehry

(C) Mahadevi Verma

Wﬁ%ﬁﬁmmg@qw |
(A) W%Wm@%mwm@m
O

(B) Suryakant Tripathi ‘Nirala’
(D) Maithilisharan Gupt

(B) YoId SIehTRT T Sefuly (ELCUE))
O STawrfuRefy 0
(D) = Bt At by 1 ST o
The main reason for the blueness of the sky is@)

(A) the scattering of sunlight by air molecules
(B) the scattering of white light

(C) the presence of water vapour
(D)  the absorption of blye light due to the air

137. mgwm,ﬁqmmﬁﬁﬁmﬁw,m@aﬁgéir? §
() PR " (B) ¥wifm ©) e (D) &
Raman Subba Row, who passed a\vay recently, was associated with which sport ?
(A) Cricket (B) TableTennis __ (C) Football (D) Hockey
GWZz:24, T e S



REIEGEIE nEs

(&) T ®) Fom (©) e ©) T

What is the name of the longest river in Peninsular India ?

(A) . Godavari (B) Krishna (C) Mahanadi (D) Narmada
139. NHRCH i sq a9

(A) =TTt PR e e, s ]

(B) TR T TRfoerer iy, efeem ,]

©) T T T e, e [7

(D) ﬁg{a‘aﬁmmﬁm NS D

What is the full form of NHRC 9 i

(A) National Humanity Rights Commission, Indja
(B) National Human Righteous Commission, Ihl 3
(C) National Human Rights Commission, India ()
(D) Natural Human Rights Commission, India

140, T 1985 Tl HH-TT Ay o SRt R v o1 2
(A) == (B) wfeam © T

©) T
The year 1985 was declared as the International Year of
(A) Children (B) Women (©) Blind (D) Youth

141. %ﬁmﬁ&ﬁmﬁwﬁm%%mmmmaﬂtm&ﬁaaﬁtwwﬁ
HETIAT Tl & | . B
() b EQ(B) Ly
(©) T ) T

research methods allow for in-depth aES further probing and questioning of respondents based
on their responses. o
(A) Mixed @)(B) Qualitative
". (C) Action

(D) Quantitative
142, BRIFT Qi &TaI1E 2

(A) szt RRe
(C) e te e shfmfea
What is the full form of BRI ?

(A) Beltand Road Initiative : |(B) Basic and Road Initiative

[:](D) Belt and Republic Industry

_ fafire st it e g e e s v & R Red amaR
(A) @i (B) T fefim ()©) it (D) e

tries to trick specific individuals[iﬁto jeopardizing the security of the organization they
work for. 638

(A) Spamming

(B) =Rt dg U shRefea
(D) oiee U Pufeerr se:

(C) Belt and Resource Initiative

143.

(B) Spearphishing (C) Cyberstalking (D) Sneaking
Page 21 of 24



144, et ST TTEter iy ffe et S S of 7

D) T 2002
st 2004 (B) SR 2004 (C) T 2000 (D)

i\‘?lzcn was the first ever National Agriculture Policy announced ? (D) March 2002
(A) March 2004 (B) January 2004 (C) July 2000

N HHATRIER
145, a¥ ﬁm@vmw%mﬁ%mw@m T HIE T

The United Nations Commission on Hum
Council for the enforcement of internation

(A) 2006 (B) 1998

. ; Right
an Rights was replaced with the United Nations Human Rights
al human rights law in the year

[© 2000 (D 2001
146. uﬁw%wwaﬁgmﬁﬁﬁwﬁﬁaﬁq%?‘]

(A) frem S (B) Sfrr Sy l(c! ©) Wt (D) EEH
Who is the first person to run across Aftrica ? )
(A) Sisay Lemma (B) Kenenisa Bekele [*] (C) Dennis Kimetto (D) Russ Cook

il
147. mﬁm%ﬁwﬁmmﬁmﬁ@mmmw%mmmﬁ
EIHEIE Y
(A) =ER (B) iRy (C) wmhrEm (D) wifF=e
The Indian Agricultura] i

Research Institute hag demanded legal action against which country for cultivating
basmati varieties protected in India ?

(A) Myanmar (B) Bangladesh [] (C) Afghanistan

(D) Pakistan
148. FHar waﬁamam:ﬁa{\aﬁ T ﬁam%%ﬁmm% ?
v 8)
(A) WERTY (B) TR £+ (C) e gy (D) 3w
Which Indian state is known for its unique ‘Warli(['.%aintings ?
" (A) Maharashtra (B) Rajasthan t;is (C) Madhya Pradesh (D) Odisha
()
149, ‘W’@Wﬁmm%%ﬁwmmm%%ﬂwﬁﬁzﬁ ?
(A) &t (B) e (©) SETmS (D) Irorey
“Chikankari» is a traditional embroidery style that originated in which city of Uttar Pradegh, 9
(A) Lucknow (B) Noida

[-1(©) Prayagraj
«‘l
150, FRTRITRIS e s srerfies s v 2 9 ]

(A) Fel-srer 2wt Co, wr vty bh (B) e o feer

©) e et gy () (D) wot-vret s e 3 g

What is the Primary cause of ocean acidification F‘l
(X3 . .

(A)  Absorption of CO, by sea-water ) (B) Oil SPl“S.

(©) Overfishing " (D) Increase in sea-w

(D) Varanas;

ater temperature
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